. VCE & PDF https://www.pass4itsure.com/c2150-197.html
g 2024 Latest passditsure C2150-197 PDF and VCE dumps Download

PassditSure.com

C2150-19798As

IBM Security ldentity Manager V6.0 Implementation

Pass IBM C2150-197 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/c2150-197.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

C2150-197 Practice Test | C2150-197 Study Guide | C2150-197 Braindumps 1/6


https://www.pass4itsure.com/c2150-197.html
https://www.pass4itsure.com/c2150-197.html
https://www.pass4itsure.com/c2150-197.html

VCE & PDF https://www.pass4itsure.com/c2150-197.html
a 2024 Latest passditsure C2150-197 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

The identity feed for IBM Security Identity Manager (ISIM) utilizes IBM Tivoli Directory Integrator (ITDI) and the
connector in the assembly line that communicates to ISIM has been setup in Update mode.

Which of the following would be accurate if the identity coming from ITDI was NOT in ISIM?

A. The ITDI assembly line would error because the assembly line was configured in update mode so adding new
identities would not be supported.

B. A ITDI connector in Update mode would only support updating an existing identity so adding identities would not be a
possibility.

C. The identity entry would be treated as an add as long as there was not an Override Add assembly line hook enabled.
D. The identity entry would be skipped since the identity did not already exist in ISIM.

Correct Answer: B

QUESTION 2
When planning for customization, how would you handle local changes to attributes in the Microsoft Active Directory?

A. Define a new profile for the AD adapter, set up an extended schema mapping file, and build a form to collect those
elements.

B. Run reconciliation against the Active Directory to obtain the values of the attributes.
C. Set up a provisioning policy to manually create accounts in Active Directory.
D. Use the adapter development toolkit to set up another MSAD adapter.

Correct Answer: B

QUESTION 3

Which is TRUE concerning the configuration of Reminder Interval within Workflow Notification Properties?
A. Reminder Interval can be overridden within individual workflow activities

B. Reminder Interval must be greater than the default escalation limit

C. Reminders can be suppressed by setting Reminder Interval to O

D. Reminder Interval is specified in days

Correct Answer: D

Reference: http://wwwO01.ibm.com/support/knowledgecenter/SSTFWV_5.1.0/com.ibm.itim.doc/tsk/tsk_ic_wkflo_cfg_r
emindinterval.html
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QUESTION 4

After applying the latest fixpack to IBM Security Identity Manager (ISIM) where would one go to validate ISIM is running
at the latest fixpack level?

A. About page in the ISIM Administrative Console Ul
B. ISIM directory server logs

C. ISIM configuration utility

D. ISIM database logs

Correct Answer: C

QUESTION 5

How should a reconciliation schedule be configured to ignore certain accounts and certain attributes for a service?
A. Update a attribute exclusion list through the administrative console.

B. Select what attributes to return from the available attribute list.

C. Add a valid LDAP filter that will return the desired accounts.

D. Add Java script to filter out accounts.

E. Select supporting data only option.

Correct Answer: A

QUESTION 6

When gathering requirements for data to be loaded, which attribute from an HR data feed is used as a required attribute
to describe a person?

A. A employee common name
B. A contractor\\'s middle name
C. A contractor\\'s email name
D. A employee alias name

Correct Answer: A

QUESTION 7

Which two options correctly describe the recycle bin in IBM Security Identity Manager (ISIM)? (Choose two.)
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A. The recycle bin age limit is the number of days after which an object in the recycle bin is eligible for deletion by the
Identity Manager IdapClean cleanup script.

B. The recycle bin can be explicitly emptied by running the Identity Manager runConfig script and setting the Recycle
Bin Age Limit parameter to O (zero).

C. The recycle bin age limit is the number of days, after which the recycle bin is emptied automatically.
D. The recycle bin is disabled by default in ISIM and must be enabled explicitly.

E. The recycle bin is a feature that is no longer available in ISIM version 6.

Correct Answer: CD

Reference: http://www01.ibm.com/support/knowledgecenter/SSRMWJ_6.0.0.2/com.ibm.isim.doc_6.0.0.2/installing/tsk /
tsk_ic_ins_first_runconfig_manual.htm

QUESTION 8

Which file should be used to store xhtml data for email notifications across more than one workflow?
A. CustomLabels.properties

B. tmsMessages.properties

C. SelfServiceUl.properties

D. enRoleMail.properties

Correct Answer: D

QUESTION 9

When planning for backup and recovery, which of these components must be covered in the planning document?

A. LDAP database instance, WAS profiles, HTTP server profiles, TDI adapters, SSUI customization files, all audit and
reporting data after a data synchronization. Database instance backup is not needed as the data other than the audit

and reporting data is transient in nature.

B. LDAP database instance, WAS profiles, TDI adapters, SSUI customization, and the adapter data directory with the
profiles and any adapter configuration, as well as the ISIM install data subdirectory under the home directory.

C. ISIM database instance, LDAP database instance, WAS profiles, HTTP server configuration, TDI adapter
configuration, ISIM configuration files. Adapter profiles and configuration.

D. ISIM database instance. TDI assembly line XML documents, WAS cluster profiles, adapter data directory, and the
report configuration files.

Correct Answer: B

QUESTION 10
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A customer wants to designate people who will be responsible for administering policies and workflows located in
various containers of the organization tree.

Which option will achieve this objective with the least amount of configuration overhead?

A. Create Access Control Items (ACIs) to allow each administrator to allow access to policies and workflows.
B. Create Organizational Units for each container that has policies and workflows.

C. Create Admin Domains for each container that has policies and workflows.

D. Create Locations for each container that has policies and workflows.

Correct Answer: A

QUESTION 11

Your customer needs to be able to show reports by department to each department manager, and also to show overall
company wide reports to auditors. Auditors need to be able to generate reports whenever needed, but are NOT allowed
any other identity management permissions.

When designing a reporting structure, which TWO of the following considerations will be needed?

A. Use the object properties in the organizational structure to grant administration domain authority to each department
manager.

B. Create a set of access control items that scope the objects accessible to managers and auditors.
C. Set up a view in the administration GUI that shows reporting and data synchronization.

D. Use the Tivoli Common Reporting component to build out the customized reports.

E. Design a customized SSUI view that allows auditors to view reports.

Correct Answer: CE

QUESTION 12

When the role CheckWititer is assigned to a user, a maximum check amount limit must be specified.
What is the recommended design option to implement this requirement?

A. Advice the customer this requirement involves a custom schema and a custom UI.

B. Create an Assignment attribute on the CheckWriter role called MaxCheck Amount.

C. Create multiple roles, one for each check writer\\'s maximum check amount.

D. Extend the role schema to add an attribute called MaxCheckAmount.

Correct Answer: B
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QUESTION 13
Which statement is correct about identity data feed?

A. If a repeated identify feed does not contain a value for an attribute that was previously specified for the user, the
identity feed process leaves that attribute unchanged for the IBM Security Identity Manager user.

B. All data feed attributes from the identity data feed must be stored in the IBM Security Systems Identity Manager
person record.

C. All attributes in IBM Security Systems Identity Manager person record must exist in the identity feed source.
D. You can include some attributes in an identity feed that are not contained in the identity feed object class.

Correct Answer: C

QUESTION 14

A service is created in IBM Security Systems Identity Manager (ISIM) for IBM Directory Integrator (IDI)
data feed.

Which field in the ISIM service form is used to match the IDI data feed?

A. A unique identifier of the service

B. Name attribute in the service

C. The name of the service

D. The naming context

Correct Answer: D

QUESTION 15

Organization tree hierarchy can be changed from administrative console.

Which of the following statement is TRUE?

A. All objects within an organizational container can be transferred to a different organizational container.
B. Users within an organizational container can be transferred to a different organizational container.

C. Changing organization tree structure does not affect users in IBM Security Identity Manager.

D. Services and policies will be transferred automatically to the new organization branch.

Correct Answer: B
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